sez. A

L

|

157-158 tommy head M3x8 16
153-155-154 tommy head M3x8 64
155-148 tommy head M4x12 32
148-103 countersunk head M4x16 32
detall ype npiec.

Screw's table

scale 2/1

sez. B

52

scale 2/1

added screw |ist 26-02-06
o e e o
modifications
152 [ 169 | #lat spring
151 [170 | top clamp 158 | 169 [tip bar
150 | 169 | locking nut 157 | 169 |clamp
149 | 169 | couterweight 156 [169 |Iittle flat spring
148 | 169 | spacer 155 | 170 | support
147 | 169 | bar 154 | 170 [clamp bar
10 | 168 | blade central support| | 153 | 170 | bottom clamp
o | o s 1o o | oo | s oo
™ R .De Salvo

=&

LIGO PROJECT

o o
G.Gennaro-PROMEC

W

e 3-10-05
HAM-OPTICAL BENCH |L160-D051167-01-D
BALANCE GR.9 e A1
E] | 10




